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The probability that events A and B both occur can be found using the general
mulfiplication rule.

. The General Multiplication Rule
P(A and B) = P(A) * P(B|A)

A bag contains 10 counters with the letters of the word STATISTICS written on them. A
counter is chosen at random and not replaced before choosing another one (two total
counters are drawn). Create a tree diagram to list all the possible outcomes based on
whether we draw a vowel or a consonant. (0 lerers 4otnl 3 vowels, T consonants

draw ¥#) draw $# 2 :
- "v vowe! — both vowels =z = . 07
yowel
fbl\c \‘!7'\ consonanf - Nowcl +hen Con.= —35 =.73
vowe] = - .23
vowel — cons. trun
o ™\ consonant /B/
v ‘t—3\ooirh-ns=l§‘--q.]
™ (onsonar cons- = 7
What is the probability of getting two What is the probability of getting a
consonantse consonant on the second draw?
vowe!l +hen cons.
E'}j or cons.then cons. L3 +.47
()
What is the probability of getting a What is the probability of getting two
vowel once?¢ vowels?2
NO
kb - T
ov Cons ¥hen vpwnrel .01

(-av\

What is the probability of getting a
vowel at least once?

VOWEl Onte = . 23+ .23
NOWe| +nite = 4.0
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A bag contains 4 purple sweets and é blue sweets. A sweet is chosen at random and is
replaced before choosing another one (two sweets total are drawn). Complete a tree
diagram to represent the possible outcomes of drawing two sweets.

4
purple — 35 = b

. = Y4

W =
,P\Ar?lfc""i_g = .4

% blue /“V a

0 —_— = . 20
v / blue — 25 %
\O
What is the probability of drawing two What is the probability of drawing sweets
purple sweetse that are the same color?
- W .51

What is the probability of drawing sweets What is the probability that the first
that are different colorse sweet you draw is blue?¢

.43
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